Efficiency vs P,

T
9
o

o
3

.............................................

0.6

eficiency vs p

0.5

0.4

LR L N LN R RN LR R

0.3 el Fers et
0.2F¢-m- oo R SR R
ot iy

_&% w E :

0.95

=
o
iN

1 10 . Gedf’

[—s— DQN_NOFITZ_StepZ_Tibar-phasel-newgeom

—— DQM_Fit2_step2_ttbar-phasel-newgeom

—— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
—+— DOM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

0.5 . . . . :
L NSRS SRR USRS SRR SR {

sn

> E

g F . . . . 5

R S S A i S S 1

o F : : : : :

£0.35F oo b
0 ORI R T s o 1
P50 IR IR e 1
02F -t e

0.15
0.1
0.05
1.

Ratio
N

0.95!

s 0.5 ;
Z0.45F
0.4
0.35F

efficiency vs

EE o s -

-
2
o
r




	Contents
	Page 1


